FEH1EEIBESEER
HAH: 2024458250 ~ 202445 H28H

BRI EIRBREESAEEFERS

RERBRER FTEELHRERS

BFREB—E

AH [EdE] I v 243 341 AL 541 6L 7L 841
5/26 %gﬁ -1.1|BEEEKREG) 10.80|EHFT ZEK(3) 10.88(#3 1L E A1) 10.91|#%H F4£@3) 10.92|#@ BEO) 10.99|80 &ZiEQ) 11.13| B2 E1EQ) 11.15
HIETE =i = TE b A FIGEE =1
5/25 i; =8 FEE) 49.00| K Eth(2) 49.70|7%HE HiEQ2) 5043|FK EEQ) 50.52|%2H &3L@) 50.58|HiI4T EF0(3) 50.72|1&E#% () 50.73|{EHE 1&#H(3) 51.47
=it HISTE EE— =R B[ INBR HISTE = o]
5/25 iO%Om HF IEQ)  35427|FHF HKA)  35431|BARXEKAEB)  3:5661|&EH EEQ) 3:58.18|HH O =ik(1)  3:58.77|RiF MEIEB)  3:58.93|%& EHEQ  3:58.93|v/T/MNIEARB) 4:08.83
INBR = 1= PN HEZHE INBR = =P HIEA X IV R
5/26 i&m REASE(Q)  14:2484|/NRE FHI(3)  14:2659|#kFE FiKQ) 1441513 RXEREB) 145684584 1%(2)  15:1043|BFHBEZBNIR) 15:1450| B ARARKAB) 15:30.76|FHE  ZE(2) 154517
INBR INEE IVBR HIFEX = 1= PN HIFEHX BEZHE FER
5/26 i;H Wi H2(2) 52.97| & AEQR) 53.01|%2 B &3H@3) 54.74|%F £ 1&50(3) 57.21|/BF 1&48(3) 58.55|HAK ER(2) 58.83|:a[ 4 HHE(1) 59.41|t2M #EER(1)  1:.05.14
EIGE— INEE B[E R FEREEE EIBXE FER L% ElGE—
5/25 i?OmW B RFEG)  24:36.80|EEEREMQ) 24:46.94|[REF |E3) 25:28.36|EtY] BURG) 25:4225|MFA FEHQ2)  26:54.15|)I1FF EEHE(1)  27:05.84|EE  EB)  28:52.92|FR FAQ)  29:39.07
BHEZE MR VB HISTE HIST ¥ H & = o] HISTE
5/26 iiom HIFTE 41.62| B 57 41.69| R 42.55| B IHE— 42.60| = W%m 42.95|ERE T3 4357/ 4380 FIFEE 45.59
INE 1ZER(2) Kig SHEEQ) i EEQ) A¥ EFER) EAR EQ2) HARREQ) SRR KE) INE O EFRQ)
BESEIKRQ) B R#0) WH BEQ) Sl 10) B E1EQ) NE EZE(2) A KE®) FE BG3H2)
s BriH3) WA EEEQ) E 1&H3) HWAREAZ3) ATMEEE 2/ (3) BB &EW %k FHEQ A MERE)
Wil BEAAN) HE EX@Q) Heh Z#(3) 2K EAQ) BBE 2 EH 1&R(3) It EF03) a0 EEQ)
o 643
5/25 i;ﬁh SHBEABG)  1mso|HEEAG)  ImS6|aTEEEZAG) 1ms3 LE FHE) mfg; FH ARG ImTS|EABHAQ  im75 BE EEQ  ImT5|[EE AFQ@  1m70
= Jo
HITE = o] =1 ol FIETE B EMESE )11 = o]
5/26 2;@95 #E BEEE) ;g;}r 21 BEE(3) 3m90| I #EF() 3m00| R 1EA(2) 3mO0|4EM I+ (2) 2m20
EIGE— HISTE EE— HISETE )11
5/25 %i& WA 250 13m30|FHFA  JB(1) 11m72|%ith BEK(2) 11m52|[RE EMH(2) 11m30|ILZARELE) 11m25|iEZREFG) 11m20{FH L Z=2ZE(2) 10m81|[EH #HEQ) 10m80
TS E REF R HISTE =R TE HISTE MW E BRZE
5/26 ,%\j-;g RE MBI  56m63|HHE KAB)  54m60[FE EBE(2)  42mb55|#RE (ER(3)  37m20|FNE #th(3)  36m68[Esk FAME3)  36m20|RAR EH(2)  34md0|HH BAQ  34mi5
EIETE HISTE ERMIE BBEAE P11 EIETE B[ MR TE
5/26 ﬁgﬁﬁ EF U ONIE) 5,7;‘;; T1T EMG) 4040\ HEEAMG  4828|BR mM@  4577|Em =) 3867|874 #A()  3855|Zmm k(1) 3767|BB ®I®) 3758
HIETE EMEEE Tt = E3 AmE EMEEE =]
@ 11.07(-0.5) 845|(M 11.41(-0.5) 771|® 11.46(-0.5) 761|( 11.60(+2.7) 732|® 11.72(+0.0) 707|(® 12.63(+0.0) 532|™ 11.82(+2.3) 687|( 11.87(-0.5) 677
® Tm11(+0.9) 840|@ 6m19(-0.6) 6282 5m69(+0.6) 521]|@ 6m20(+2.5) 630|@ 5m72(+0.2) 527|@ 5m42(-0.5) 465|® 5m59(+0.6) 500|®@ 5m40(+0.7) 461
® 10m82 535|®@ 8m18 377|® 10m66 525|® 8m10 372|®) 8m69 407|® 8m45 393|®) 6m23 262|® Tm15 316
@ 50.41 796|@ 51.39 752|@ 51.86 731|@ 52.98 682|@ 57.02 520|@ 54.22 631|@ 54.37 624|@ 53.26 671
® 15.62(+1.7) 776|® 14.98(+1.7) 852|® 16.73(+1.7) 653|® 17.30(+1.7) 593|® 18.05(+1.7) 519|® 18.47(+3.5) 480|®) 20.07(+1.7) 344|(®) 20.08(+3.5) 343
® 46m25 533|® 41m44 463|® 45m77 526|® 41m67 466|® 29m70 295|® 28m96 285|® 35m63 379|® 26m98 257
@ 1m85 670|@ 1m70 544|@ 1m73 569|@ 1m61 472|@ 1m55 426/ 1m46 360/ 1m61 472|@ 1m46 360
4:51.58 609|® 4:59.61 562|®) 5:03.07 542|® 4:48.19 630|® 5:16.96 466|®) 4:35.47 709|® 5:10.89 499|® 4:41.19 673




